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  log a M + log a N  =  log a ( M·N ) 

Example  log 2 3 +  log 2 4  + log 2 6 

 Soln           log 2  3  +  log 2 4  +  log 2 6   =  log 2 ( 

3 x 4 x 6 )  

       =  log 2 72   # 

2.   

  log a M  -  log a N   =  log a ( ) 

Example  log 2 5  -  log 2 10 

 Soln      log 2 5  -  log  2 10 =  log 2 ( ) 

     =  log 2 ( )  # 

3.   

log a a  =  1   , a  >  0   a  ≠  1 

Example  log 3 3    

   

Soln         log 3 3 =  1      # 

**    

4.   



 log a 1   =  0   ,  a  >  0  

*   

        log a 1   =  0  

a0  =  1   a  -    

 

     

log a MP   =   P ·  ( log a M ) 

*  

 

 

Example   log 5 125x =  ? 

 Soln      

  log 5 125x =  log 5 53 ·  x 

    =  log 5 53  +   log 5 x 

    =  3 · log 5 5  + log 5 x 

    =  3·1  +  log 5 x 

    =  3  +  log 5 125x   # 

6.   



    log aP M   =   ·  ( log a M ) 

Example           log 8 7 =   ?  

 Soln   

         log 8 7 =   log 7 

     =   log 2 7   # 

 

log b  a =    ,  a,b,c >  0  c,b,  ≠  1 

           

 

 

 

Example        log    

 Soln    

   log  5    =      # 
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5log   N10log Nlog   , RN  

N  101 N  

 

1.   

4   



2.   

(N)  2 

1.00 – 9.99  

3.   (N)  

2  1.00 – 9.99   

34.1log =  ………………… 

4. (N) 

2  1.00 – 9.99  

N = 1.437   1.43 < 

1.437 < 1.44 

 

x  xlog   

x  nNx 10 101 N n

 

 x  nN 10

101 N n xlog   

 

      

x   =   nN 10  

         xlog   =    nN 10log  

         =    nN 10loglog  



  xlog   =   nNlog  

Nlog mantissa 

) xlog  

n  

characteristic ) xlog  

   

x  xlog  xlog

x  x  

xlog antilog xlog  

xlog x   

1. xlog

xlog  

xlog =  Nlog  + n 

2. N  N = M  

 

xlog  =  Nlog  + n 

    =   nN 10loglog  

xlog  =  nN 10log   nNx 10  

   

 



e   e

2.7182818    ln x  xelog  

ln x x  

 

      

ln x   = xelog  

    ln x   = 
e

x

log

log
  

4343.0718.2logloge ) 

    ln x   = 
4343.0

log x  = xlog3026.2  
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log log N = 

N   
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1. 9 = 3  

=  

=  



= ½  

= log 125  

½ = log 2  

= log 5 ½ 

log = x 

log 8 x =3 

10. 8 = 64 

11. 1/3 = 1/9 

12. 64 = ½ 

13.log 8 = -3 

14.log 4 = 4 

15. log 9 = -2 

 

1. log 1024  

2. log 0.008  25 

3. log 125 5 

4. log 2401   

5. log 32*  



6. log  

7. log 35+log6- log7+ log10- log3 

8. log 8 log 81 log 400 –log256 

9. log 128 log 0.25  

10. 10.log 64 log 64 
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-http://school.obec.go.th/sidaschool/data/san8.pdf 

-http://www.thai-mathpaper.net/documents/nut_logarithm.pdf 
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